
Product.: Lang

1. Seite

9

1
2. Seite

29

III.

I.

.

.

30

8

II.

IV.

6

7

10

2001-017
M5x8 Sf csavar

M5x6 Bkny
 hernyócsavar

2001-015

5025-003A

M8 Önzáró anya
5311-283

2002-020

2003-023
M8 Fakötéses alátét

M6x12 Df
csavar

2001-038

M6x10 Hf
csavar

2001-180

6151-1183

2002-007

2001-065
M8x25 Hlf csavar

M8 Hl anya

6151-1184

4911-064

3490-002A

1982-019

IV.

III.
I.

II.

3

4

5

5

4

2

6536-002A

5131-001B

M5x6 Hernyócsavar
2001-015

5135-085A

5135-085A

M5x6 Hernyócsavar
2001-015

5131-001B

6536-001A

Belső használatra !

8400-177

Bari Ker



Product.: Lang

12

13

13

14

14

14

16

15

2. Seite11

17

14

M5x16 Hlf
csavar

2001-106

M5x15
Hernyócsavar

2001-015
9900-389

M6x16 Df csavar
2001-042

M6 Íves alátét
2003-020

1982-011

1982-011

1982-001

1982-001

6611-004A

1982-001

5540-168

5311-284A

1982-001

6611-132

M5x16 Hlf
csavar

2001-106

M6 Hl anya
2002-005

M6 Alátét
2003-005

Belső használatra !

Bari Ker



Product.: Lang

Lage des Feuerablenkvermiculit

1. 9.
Reihenfolge:

3. Seite

24

21

23

25

20

18

19
19

6.

7.
9.

3.

1.

4.

5.

2.

8.

22

3712-117

6081-411

6081-408A

6081-409A 6081-410A

6081-196

6081-194
6081-194

5490-021

Belső használatra !

Feuerraumauskleidung
(9900-506A)

3712-117         1 Stück
6081-194         2 Stück
6081-196         1 Stück
6081-408A      1 Stück
6081-409A      1 Stück
6081-410A      1 Stück
6081-411         1 Stück

Bari Ker



28

7

6

Product.: Lang

4. Seite

26

27
2002-007

2001-065
M8x25 Hlf csavar

M8 Hl anya

4111-001

1982-019

3490-002A

1982-019

2002-007
M8 Hl anya

2001-065
M8x25 Hlf csavar

4111-002 Belső használatra !

Bari Ker


